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1. Find 6 or x in the following. (Give your answers correct to 3 significant figures.)
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2. The figure shows A4RC.
5 (a) Find the length of AB. (Leave your answer in surd form.)
(b) Find the value of tanx. (Leave your answer in surd form.)
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2. The figure shows A4BC.



(a) Find the length of BC. (Give your answer correct to 3

significant
figures.
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(b) Find the value of tan®+2cos¢. (Give your answer correct to 3
8 9 significant figures.)
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3.Find 0 in the following. (Give your answers correct to 3 significant figures.)
(a) 2tanB=3
(b) sin®=3tan30° - cos18°
(¢) 3cos(B-38")=1
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4.In the figure, ABCD is a parallelogram.
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(a) Find the length of AE. (Give your answer correct to 3 significant figures.)
(b) Find the area of parallelogram ABCD. (Give your answer correct to 3 significant figures.)
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5. The figure shows a pendulum of 20 cm long. When the pendulum swings, the distance between the highest
point and the lowest point is 3 ecm. What is the largest angle for each swing of the pendulum? (Give your

answer correct to 3 significant figures.)
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CHALLENGE
6.The figure shows A4BC.



(a) Express sinf and cosB in terms of @, b and c.
(b) Express sing and cos¢ in terms of a, b and c.
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(¢) (i) Write down the relation between ¢ + ¢ and b*.

(ii) From the results of (a) and (¢)(i), find the value of sin® B + cos’ 0.
(d) (i) Find the value of 6 + ¢.

(ii) From the results of (a), (b) and (d)(i), find the relation between sin(90° - 0) and cosf.
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